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QUESTION 1

Which type of virtual machine clone is created from a snapshot of a parent VM? 

A. Mirrored Clone 

B. Full Clone 

C. Linked Clone 

D. Snap Clone 

Correct Answer: C 

 

QUESTION 2

Where is the index stored after an archiving operation? 

A. Archive storage 

B. Archive server 

C. Backup server 

D. Media server 

Correct Answer: A 

 

QUESTION 3

Which component of SDDC generates the billing report based on price per unit and number of units consumed for a
service? 

A. Orchestrator 

B. Directory Services 

C. Self Service Portal 

D. SDDC Controller 

Correct Answer: C 

 

QUESTION 4

What are the considerations when designing a disaster recovery plan based on RTO and RPO? 

A. Lower RTO and RPO have no effect on cost 
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B. Lower RTO and RPO simplify the solution 

C. Lower RTO and RPO decrease the cost 

D. Lower RTO and RPO increase the cost 

Correct Answer: C 

 

QUESTION 5

Which is a benefit of cloud computing? 

A. separate servers for each customer 

B. provides business agility 

C. increases up-front CAPEX 

D. owned IT resources 

Correct Answer: B 
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